2. MIPAS Daily Report for level 2 products summary report

(See mipas_daily_report_level2_ ML2PP_7_03_W_20090216.html for a detailed report).
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e 2.2.3 Temperature overview

¢ 2.2.4 Species overview

¢ 2.2.5 History of daily averages

2.1 General Info

This report contains a daily analysis on parameters extracted from MIPAS level 2 data (The MIP_NL__ 2P product).

2.1.1 Report summary

The table below shows general characteristics of the data that are included into this report.

Item Value

Report version

v1.11 26-05-2015

Time of report generation

07MAY2016 00:38:24

Data source version

ML2PP/7.03-W

Processing scope for products

16FEB2009 00:00:00 to 17FEB2009 00:00:00

Start time of first product within scope

15FEB2009 23:11:56

Stop time of last product within scope

17FEB2009 00:20:16

Total number of level 2 products

15

Number of level 2 products with errors |0

2.1.2 Summary per product

The following table shows a summary for each product used in this report.

# Product name Start time Stop time Prod err |Number of scans (tot/proc) Quality summary warnings
0 |MIP_NL__2PWDSI20090215_231156_000060572076_00288_36414_1000.N1|15FEB2009 23:11:56 | 16FEB2009 00:52:53 |0 90/90

1 |MIP_NL__2PWDSI20090216_005259_000060172076_00289_36415_1000.N1|16FEB2009 00:52:59 | 16FEB2009 02:33:16 |0 74/74

2 |MIP_NL__2PWDSI20090216_023351_000059962076_00290_36416_1000.N1|16FEB2009 02:33:51|16FEB2009 04:13:48 |0 75175

3 |MIP_NL__2PWDSI20090216_041354_000059962076_00291_36417_1000.N1|16FEB2009 04:13:54 | 16FEB2009 05:53:50 |0 75175

4 |MIP_NL__2PWDSI20090216_055425_000006992076_00292_36418_1000.N1|16FEB2009 05:54:25 | 16FEB2009 06:06:04 | 0 9/8

5 |MIP_NL__2PWDSI20090216_073424_000060762076_00293_36419_1000.N1|16FEB2009 07:34:24|16FEB2009 09:15:40|0 97/97

6 |MIP_NL__2PWDSI20090216_091546_000059842076_00294_36420_1000.N1|16FEB2009 09:15:46 | 16FEB2009 10:55:30|0 95/95 VMR_TERM_MACRO_MICRO[HCN/macro:1; HCN/micro:1]
7 |MIP_NL__2PWDSI20090216_105536_000060762076_00295_36421_1000.N1|16FEB2009 10:55:36 | 16FEB2009 12:36:52 |0 75175

8 |MIP_NL__2PWDSI20090216_123727_000059962076_00296_36422_1000.N1|16FEB2009 12:37:27 | 16FEB2009 14:17:24|0 75175

9 |MIP_NL__2PWDSI20090216_141730_000059962076_00297_36423_1000.N1|16FEB2009 14:17:30 | 16FEB2009 15:57:26 |0 75175

10 |MIP_NL__2PWDSI20090216_155801_000060662076_00298_36424_1000.N1|16FEB2009 15:58:01|16FEB2009 17:39:07 |0 66/66

11 |MIP_NL__2PWDSI20090216_173914 000060252076_00299_36425_1000.N1|16FEB2009 17:39:14 |16FEB2009 19:19:39|0 75175

12 |MIP_NL__2PWDSI20090216_191945_000059962076_00300_36426_1000.N1| 16FEB2009 19:19:45|16FEB2009 20:59:41 |0 75175

13 MIP_NL__2PWDSI20090216_205948_000060252076_00301_36427_1000.N1| 16FEB2009 20:59:48 | 16FEB2009 22:40:13|0 75175

14 |MIP_NL__2PWDSI20090216_224019_000059962076_00302_36428_1000.N1| 16FEB2009 22:40:19|17FEB2009 00:20:16 |0 75175

2.2 Processing performance indicators




2.2.1 Successful retrievals

This section includes a table with statistics on the number of retrievals, as well as a worldmap plot that shows successful retrievals.

RETRIEVAL MDS |# scans processed |# Successful retrievals| %

PT 1105 1037 93.846
H20 1105 1037 93.846
03 1105 1037 93.846
HNO3 1105 246 22.262
CH4 1105 1037 93.846
N20 1105 1037 93.846
NO2 1105 1037 93.846
F11 1105 246 22.262
CLNO 1105 246 22.262
N205 1105 246 22.262
F12 1105 246 22.262
COF2 1105 198 17.919
CCL4 1105 198 17.919
HCN 1105 198 17.919
F14 1105 198 17.919
F22 1105 198 17.919

Mumber of succassful retrievals ve, geolocatisn {#=day side , triangle=night side}.
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2.2.2 Pressure overview



This section shows values (left) and error (right) for pressure after binning individual sweep values over retrieved altitude and tangent latitude.
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2.2.3 Temperature overview

This section shows values (left) and error (right) for temperature after binning individual sweep values over retrieved altitude and tangent latitude.
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2.2.4 Species overview

2.2.4.1 H20 overview This section shows values (left) and error (right) for H20 after binning individual sweep values over retrieved altitude and tangent latitude.
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2.2.4.2 O3 overview This section shows values (left) and error (right) for O3 after binning individual sweep values over retrieved altitude and tangent latitude.
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2.2.4.3 HNO3 overview This section shows values (left) and error (right) for HNO3 after binning individual sweep values over retrieved altitude and tangent latitude.
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HNO3 winr [ppmv]
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2.2.4.4 CH4 overview This section shows values (left) and error (right) for CH4 after binning individual sweep values over retrieved altitude and tangent latitude.
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2.2.4.5 N20 overview This section shows values (left) and error (right) for N20 after binning individual sweep values over retrieved altitude and tangent latitude.
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2.2.4.6 NO2 overview This section shows values (left) and error (right) for NO2 after binning individual sweep values over retrieved altitude and Sun Elevation Angle. Note that for NO2 the bin heights are 8 km.
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2.2.4.7 F11 overview This sect
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shows values (left) and error (right) for F11 after binning individual sweep values over retrieved altitude and tangent latitude.
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Caily average [see titla]
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COFZ wmr [pprmy] for pressure 100.0 hPa
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Tirn= [El’tu:lrt of dﬂ}"]



HCM wmr [pprav] for pressure 100.9 hPa
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H—+—9C to —E0 deg
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Caily averaga [ase title]
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Caily averaga [ase title]

F22 vmr [pprrv] for pressure 100.0 hPa
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Tangant altitude [km] for pressure 10.0 hPa
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Caily average [zee title]

Caily avaraga [Eee t'ltla]

03 vmr [ppmy] for pressure 1000 hPa

H—+—0C to —E0 deg
[+ —B0C to —B5 deg
F—00 to —20 deq
EE1—2C to 20 deg
20 to &5 deq
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CH4 wmr [ppmy] for pressure 10.0 hPa
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Caily averaga [==s title]
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Caily average [see title]

Caily average [zee title]
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Daily averaga [ase titla]

Daily averaga [ase titla]
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F11 vmr [ppmy] far pressure 10.0 hPa
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Caily overage [see title]

MZDE vmr [pprmy] for pressure 10.0 hPa
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COFZ wmr [pprv] for pressure 10.0 hPa

Tirn= [El’tu:lrt of dﬂ}"]
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HCH wrr [pprov] for pressure 10.0 hPa
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F14 vmr [ppmy] far pressure 10.0 hPa
1.0 : ; :
b ............................. ............................ oo ............................

[
>

22
.

Caily averaga [ase title]

H—+—9C to —E0 deg
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Caily avaraqa [eee title]
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F22 vmr [ppmy] far pressure 10.0 hPa

H—+—9C to —E0 deg
[#—+—BC to —B5 deg
e—0G to —20 deq
EE1—-20 to 20 deg
20 to &5 deg
—BS to 80 dag
B0 to 90 deg
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Timz [atart of day]
Temperature [K] for pressure 1.0 hPa
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Tangent altitude [km] for pressure 1.0 hPa
5o i X H

2l

&

e
o
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[+ —B0C to —B5 deg
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Caily avaraga [Eee t'ltla]
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Cogily civerage [see titla]
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Daily averaga [ase titla]

03 wmr [ppmy] for pressure 1.0 hPa
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Caily averaga [==s title]
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H—+—0C to —E0 deg
[+ —B0C to —B5 deg
F—00 to —20 deq
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Time= [atart of day]

HMOZ wmr [pprav] for pressure 1.0 hPa
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Caily average [zee title]

CH4 vmr [ppmy] for pressure 1.0 hPa
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Caily averaga [==s title]
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H—+—0C to —E0 deg
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&5 to 80 deg

B0 to 00 deg

0.8
Oz 20, 240 0o 00,00 D=0, 00 000050 o:00, 00 0z 0L O 000,00
18711 /5006 03 /1% /2008 18,/12,/9008 02,701 200 17,01 /200g o1 f02 /5008 16 /0% /2000
Time= [atart of day]
MEC vimr [ppryv] far pressure 1.0 hPa
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Caily averaga [ase titla]
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MOZ wrar, sun elev==0 [ppmy] for preasure 1.0 hPa

H—+—0C to —E0 deg
[+ —B0C to —B5 deg
F—00 to —20 deq
EE1—2C to 20 deg

20 to &5 deq

&5 to 80 deg

B0 to 00 deg

000,00 0¢: 00,00 O0:00,00 00:00,00 (000,00 O0:00.00 000,00
18,/11 /2006 03,/12,/2008 18/12 /2008 02 /01 /2008 17,/01 /2008 of 2 /500 16 /0% /2009

o014

C.012

.00

.008

OO0
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MOZ wmr, sun elev<Q [ppmy] for pressure 1.0 hPa
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Caily overage [see title]

F11 wimr [ppmy] for pressure 1.0 hPo
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Caily overage [see title]

Caily averaga [ase titla]

MZOE wvmir [pprmv] for pressure 1.0 hPa
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Temnperature [K] for pressure 100.0 kPa
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Tangent altitude [km] for pressure 100.2 hPa
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z —— 65 to 0 deg
= 14 &0 to 90 deq
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O3 winr [ppmy] for pressure 100.0 hPa
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HNOS wmr [ppeny] for pressure 100.0 hPa
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CH4 vimr [pprmw] far pressure 100.0 hPa
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.E. : : : : : : —6G% to —20 deg
o [F-E1—20 ta 20 deg
2 20 to 35 deq
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Daily averaga [=as title]
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Caily everage [see title]

F11 vmr [pprrv] for pressure 100.0 hPd
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Daily averaga [=se titls]

CLNO wmr [ppmy] for pressure 100.0 kPa
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Daily averaga [=se titls]

MNZCE wrnr [pprey] for pressure 100.0 hPa

0008
m
0,200
0.0008
H—+—00 to —E0 deg
0.0005 % —B0 to —65 deg
—G3 to —20 deg
00004 [F-E1—20 ta 20 deg
20 to 35 deq
—ES to 30 deq
0.8003 B0 to 00 deg
0.e002
0.0007 [gf-4 - i
0,00 s : : :
D000, 00 09: 00,00 D000 Q000,00 Q00,00 O0z00.00 000,00
18,11 /2008 03/12 /2008 1B/12,/2008 02 /0 /2008 17/01 /2008 o1 f02 /300G 16 /02 F200g

Timz [atart of day]



F12 vmr [pprrv] for pressure 100.0 hPd
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Craily average [Ei:n: ﬂ’cl:]
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Caily everage [see title]
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Daily avaraqa [ase title]
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Temperature [K] for preasure 10.0 hPa
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Tangent altitude [kmn] for pressure 1000 hPa
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H2Z wrnr [pprev] for pressure 190.0 hPa
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Caily averaqa [eee title]
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HMO3 wmr [pprry] for pressure 1000 KPa
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CH4 wnr [ppmy] for pressure 10.0 hPa
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Cally cwverage [see titla]

MNZ2 wrnr [pprev] for pressure 190.0 hPa
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Caily overage [see title]

MNOZ wrr, sun eleve==0 [ppmy] far pressure 10.0 hPa
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Caily overage [see title]
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£.000 - . . , ! ,
D0z 00LC0 00 00,00 D0:0000 000,00 Q000,00 Q000,00 000,00
18,11 /5006 03712 /2008 16,/12,/2008 02,701 / 200 17,01 /200 1 /0273005 16,02 /2009

Timz [atart of day]



F11 winr [ppmy] far pressure 10.0 hPa
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CLMO wmr [ppmy] for pressure 10.0 hPa
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MNZCE vimr [pprmy] far pressure 19.0 hPa
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Caily everage [see title]

F12 vinr [ppmyv] faor pressure 10.0 hPa
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o - . - . - .
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Caily everage [see title]

COFZ wmr [pprav] for pressure 10.0 kPa
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Caily averaga [eea titla]

CCL4 wmr [pprov] for pressure 19.0 hPa

R
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HCMH wrr [pprov] for pressure 100 hPa

1.0 : : :

LB b ............................. ............................ e ............................
¥ H—+—00 to —E80 deg
B O S S S .| Pex—B0 ta —BS deg
K3 —B5 to —20 deg
o [F-E1-20 to 20 deg
2 20 to 35 deq
E ............................ It iiitns st easeasoasansansaaganasansaenssnsasnsasnssnssnssnss Liiettessassasssssssssssnssnapassnssnssnssnssnssnssnssnsssli oot acsacsacsncsncsnnsnnngs _Eﬁ tD EI:' dEH
5 4 : ' ' B0 to 90 deg
&

P P, ........................................................ A ........................................................ A

iR : : : ; : :

D000, 00 09: 00,00 D000 Q000,00 Q00,00 O0z00.00 000,00
18,11 /2008 03/12 /2008 1B/12,/2008 02 /0 /2008 17/01 /2008 o1 f02 /300G 16 /02 F200g

Timz [atart of day]




F14 vinr [ppmy] for pressure 10.0 hPa

1.0 : : :

LB b ............................. ............................ e ............................
¥ H—+—00 to —E80 deg
B O S S S .| Pex—B0 ta —BS deg
K3 —B5 to —20 deg
o [F-E1-20 to 20 deg
2 20 to 35 deq
E ............................ It iiitns st easeasoasansansaaganasansaenssnsasnsasnssnssnssnss Liiettessassasssssssssssnssnapassnssnssnssnssnssnssnssnsssli oot acsacsacsncsncsnnsnnngs _Eﬁ tD EI:' dEH
5 4 : ' ' B0 to 90 deg
&

P P, ........................................................ A ........................................................ A

iR : : : ; : :

D000, 00 09: 00,00 D000 Q000,00 Q00,00 O0z00.00 000,00
18,11 /2008 03/12 /2008 1B/12,/2008 02 /0 /2008 17/01 /2008 o1 f02 /300G 16 /02 F200g

Timz [atart of day]




Caily averaga [eea titla]

25107

2ox1074

F22 vinr [ppmyv] faor pressure 10.0 hPa

1 Bxin—t FEE--- +—+—00 to —B0 deg
=+ —B0 to —65 deg
—G3 to —20 deg
1.0x107t [E1—Z0 to 20 deg
20 to 35 deq
—ES to 30 deq
_ B0 to 90 deg
B0x1070)
O
B : : : : : :
D0z 00LC0 00 00,00 D0:0000 000,00 Q000,00 Q000,00 000,00
“IEI.-"'“I“IJ.-’ECI'DB DE:-,.-’“IEI.-"'E'DDEI 1Bl.-"'12,-'rilfllfl-ﬂ- DEfﬂl“leElﬂE’ 1?fD1fE'DCIH {:'1,-"'0.'3_',.-’20(:"5' 1EJ.-'r'DEI.-"'E{:IDEI

Timz [atart of day]




Temperdature [K] for pressure 1.0 hPa

300

280
) H—+—90 to —E0 deg
= en B0 ta —65 deg
o —B5 to —20 deg
v [F-E1-20 ta 20 deg
Fa 20 to 35 deq
z —— 65 to 0 deg
= 240 &0 to 90 deq
=

220

200 i : : : : .

O 00,000 Ol 00,00 000, O Qo0 G0 000, 00 000,00 Qcy 00,00
18,711 /5008 0312 /3008 18,/12 /3008 02 A0 /2008 17,/01 /2000 o1 /a2 Fa00s 16 /0% /2008

Timz [atart of day]



Tangent altitude [km] for pressure 1.0 hPa

a2

&

45

Caily averaqa [eee title]

+—+—00 to —B0 deg
=+ —B0 to —65 deg
—G3 to —20 deg
[E1—Z0 to 20 deg
20 to 35 deq
—ES to 30 deq

B0 to 90 deg

42 . - . - . -
D500 (000,410 00,00 (000,50 (00, 00 0,15 A 00,0
18,11 /2006 (312 /2008 168/12,/2008 02 A0 20 17701 F200y o1 /02 S0 16 /0%, 2008

Timz [atart of day]




HZC winr [pprmv] for pressure 1.0 hP4d

3
&
.g —+—00 ta —E0 deg
7 [ —B0 to —B5 deg
2 —B5 to —20 deg
@ [F-E1—20C ta 20 deg
= 20 to 35 deq
z —— 65 to 0 deg
= & &0 to 90 deq
&
=
4 ! . ! . ! .
00z 00,00 00; 00,00 Q0000 00,0000 Q000,00 000,00 00 00,00
18,11 /2006 03 /1% /2008 18,/12,/2008 02 /ol 2008 17,/01 /200 o1 02 B00E 16 /0% /20009

Timz [atart of day]



5.0

0.5

.0

=
tn

o
in

Daily averaga [=as title]
£
P

™
o

2.5 pizens

Q3 wmr [ppmy] for pressure 1.0 hPd

% WQ{

+—+—00 to —B0 deg
=+ —B0 to —65 deg
—G3 to —20 deg
[E1—Z0 to 20 deg
20 to 35 deq
—ES to 30 deq

B0 to 90 deg

2.0 . . , :
D500 (000,410 00,00 (000,50 (00, 00 0,15 A 00,0
18,11 /2006 (312 /2008 168/12,/2008 02 A0 20 17701 F200y o1 /02 S0 16 /0%, 2008

Timz [atart of day]




HNOZ wrr [pprov] for pressure 1.0 hPa

00012
00070 [ommmmmmmm e R --------------------------- ............................
R AR+ u 0] ECPEPEEECECPEPELPEECPRPRERD e I fresamsmeanes L bbb frosssssssseseseeeeeeeeen L G0 to — B0 deg

4= —BC to —BS deg

—G3 to —20 deg

[E1—-2C to 20 deg

Daily averaga [=ss title

02006

20 to 35 deq
—ES to 30 deq

&0 to 90 deq

02004 |-

0.0002

0,800 - . . , . ,

D0z 00LC0 00 00,00 000,00 000,00 Q000,00 Q000,00 000,00
18,11 /2006 03,12 /2008 16,12 /2008 02 /01 /2008 17,701 /2009 o1 /02 /2008 16 /0% /2009

Timz [atart of day]




0.6

0.3

Daily averaga [=as title]
o o
L4 "

=
fa

0.1

CH4 winr [ppmy] for pressure 1.0 hPd

+—+—00 to —B0 deg
=+ —B0 to —65 deg
—G3 to —20 deg
[E1—Z0 to 20 deg
20 to 35 deq
—ES to 30 deq

B0 to 90 deg

1.0 . - : : , :
D500 (000,410 00,00 (000,50 (00, 00 0,15 A 00,0
18,11 /2006 (312 /2008 168/12,/2008 02 A0 20 17701 F200y o1 /02 S0 16 /0%, 2008

Timz [atart of day]




Caily overage [see title]

0,014

MNZC winr [pprmv] for pressure 1.0 hPd

+—+—8C to —80 deg
=3 —B0 to —B5 deg

—G3 to —20 deg
[3-E1—20 ta 20 deg
. 20 to &5 deq
........... | |68 to 80 dag
i &0 to 90 deg
00 000K 095 00,00 O0:00.00 000000 (900, O Q00000 0000, 01
1811 /2008 03 /12 /2008 18/12,/9004 02 /0 2008 17/01 /2004 o1 /02 /2008 16,02 /2008

Timz [atart of day]




Daily averaga [=se titls]

MNOZ wrar, sun elevs==0 [ppmy] for pressure 1.0 hPa

00007
T
0.C006
ORI [ e : ............................ -. ............................ : ............................. - ................
: ; : ; [—+—00 ta —B0 deg
4= —BC to —BS deg
0.0004 —B5 to —20 deg
- [E1—-2C to 20 deg
' 20 to 35 deq
0.0003 o R R TRETERS .E ............................ | ~:-| ............ L ES to A0 dEg
: E0 to 00 deg
Hy JE'EE‘? 1y
0.0002 , i :
; M E L
0,000 R Lo : ............................ - ............................ : ......
0,0008 - i . , . ,
D0z 0000 Qs 00,00 D000 000000 Q000,00 D0 o0.00 0OC; 00,00
18,11 /2006 03,712 /2008 18,/12,/5004 02 /2004 17,01 /2008 o1 /02 F500E 14,/0% /200

Timz [atart of day]



Caily overage [see title]

MOZ winr, sun elev<0 [ppmy] for pressure 1.0 hPd

D014
o012 .7 '
SRR
H—+—00 to —E0 deg
: : : : : D | pEx—BO to —B5 deg
'DDDEI T : : i : i FETIIIE ] ..........E.... —EE. tﬂ _ EI:I deg
' : ' : ' . | BE-20 to 20 deg
: : ; : , : 20 to 85 deg
OB - b : ............................ .E: ............................ i ............................ ;. ............................ E —EﬂtDE':ldEg
; ’ ; : ; &0 to 90 deg
0.004
OLO0R [ -. ............................ : ............................ - ............................. : ............................ .l .......................... : .
aongl T * . - . : .
Dz 0L O 00,00 D=0, O Qo080 Q00,00 Q08000 ;00,000
18,/ 11 F2008 03712 /2008 168,/12,79008 0201 2008 17,/01 F2008 o1 /02 /3008 16,02 /2008

Timz [atart of day]



Caily everage [see title]

14107

-2 b R et fornonnnnnnnnnsnns R R S
R b R B R oo

B T e B R R froeseonananass

601070 |- eeresnenenennan e s s TRV R R R R f ---------------- ST RO tIEERE RS DL ISRRSICE 2

ST . S— S— S — %;t ......................... R

201070

F11 wmr [pprmyv] for pressure 1.0 hPg

.....................

+—+—8C to —80 deg
=3 —B0 to —B5 deg

—G3 to —20 deg

[E1—-2C to 20 deg

20 to 35 deq

—ES to 30 deq

B0 to 90 deg

D500
18,11 /2006

(000,410
(312 /2008

00,00 (000,50 (00, 00
168/12,/2008 02 A0 20 17701 F200y

Timz [atart of day]

0,15
o1 /02 S0

A 00,0
16 /0%, 2008




CLNO vmr [pprmy] for pressure 1.0 hPa

0,005

{004

0,003

0,002

Caily overage [see title]

O.001 |

+—+—00 to —B0 deg
=+ —B0 to —65 deg
—G3 to —20 deg
[E1—Z0 to 20 deg
20 to 35 deq
—ES to 30 deq
B0 to 90 deg

.00 . - : : , :
D500 (000,410 00,00 (000,50 (00, 00 0,15 A 00,0
18,11 /2006 (312 /2008 168/12,/2008 02 A0 20 17701 F200y o1 /02 S0 16 /0%, 2008

Timz [atart of day]



Daily averaga [=se titls]

NZOE vimr [pprmw] far pressure 1.0 hPa

00025

LTI [ oo o ............................ o ............................

' : ' : : V| 80 to —80 deg
B | S S, R, s AN SO L| B0 to —B5 deg

—G3 to —20 deg
[E1—-2C to 20 deg

20 to 35 deq
|:| .Dl:l-‘H} ............................ E ............................. i ............................ E ............................ .i ............................ E .......... . _Eﬁ tD EI:l dEH
' : : : : 5 &0 to 80 deg

A : : :

0 .'DDCIE ........................................................................................................... aoed sy . RPN, - PP ; ...................................................

._ElEl L;Hﬂykp_! f - e
R : s a8 o
“ﬁmﬁfﬁ w ﬂ%‘a}ﬂ- " “ﬁﬁﬂ uaﬁd%ﬂﬂafﬁaeeaaﬂm
00000 - : :
D0z 00,00 O 00,00 00000 000000 Q00 0o D0z 00.00 Ak 00,00
18/11 /2006 03/12/2008 16/12,/2008 02 /o S2008 17,701 /2009 &1 /02,2008 16,/02 /2008

Timz [atart of day]



Caily everage [see title]

F12 wmr [pprmyv] for pressure 1.0 hPa

E5x107
FORAQ T o ---------------------------- ----------------------------
i L """""""""""""" """"""""""""""" """""""""""""" :‘;' H—+—00 to —E0 deg
' : ' : 5 e B0 tn —B5 deg
' —G3 to —20 deg
I 1§ G [+ CEREEEEEE P REEEEEEEEEEEREEE r ---------------------------- T CET TP PEEEEEREE ;-----------------------------5— --------------------------- -i----------------------------a:- (120 to 20 deg
. ; : ' : ' 20 to 35 deq
: i | B4 to 80 deg
j E : : 5 T : &0 to 90 deg
L E A e R R ARt R R i r-
3 e 7 %
v 4 =
I ES [ EERRED-- IERERERRRRERRE et s 4 SEEEEEEE R ALt vt ARG R EEEEETEN SRLEEE o ARRULLIELILES &
al T
L
Bx107 . . . : !
D0z 0000 Qs 00,00 D000 000000 Q000,00 D0 o0.00 0OC; 00,00
18,/ 11 F2008 03712 /2008 168,/12,79008 0201 2008 17,/01 F2008 o1 /02 /3008 16,02 /2008

Timz [atart of day]



Caily averaga [=== title]

0.0005

0.c004

00005

02002 g

00,5007

02000

COFZ wrr [ppriv] for pressure 1.0 hPa

+—+—00 to —B0 deg
=+ —B0 to —65 deg
—G3 to —20 deg
[E1—Z0 to 20 deg
20 to 35 deq
—ES to 30 deq

B0 to 90 deg

—0,2001
—0.8002 - . . , : :
D500 (000,410 00,00 (000,50 (00, 00 0,15 A 00,0
18,11 /2006 (312 /2008 168/12,/2008 02 A0 20 17701 F200y o1 /02 S0 16 /0%, 2008

Timz [atart of day]




CCL4 wmr [pprov] for pressure 1.0 hPa

1.0

LB b ............................. ............................ e ............................
= (90 to —50 deg
B O S S S .| Pex—B0 ta —BS deg
K3 —B5 to —20 deg
@ [F-E-20 ta 20 deg
2 20 to 35 deq
E ............................ Lot i it et e s m s m s m s rm e am s m s Ea s s s a o EEarma e L T T T T T T T T T T T T _Eﬁ tD EI:' dEH
5 4 : ' ' B0 to 90 deg
a

7Y — S S A— S S

0.0 : i : : : :

O 3oL (s 00,00 AN Q00000 000G, 0o Q00000 ;00,00
18,11 /2008 03/12 /2008 1B/12,/2008 02 /0 /2008 17/01 /2008 o1 f02 /300G 16 /02 F200g

Timz [atart of day]




HCM wrar [pprmv] for pressure 1.0 hPa

1.0

LB b ............................. ............................ e ............................
= (90 to —50 deg
B O S S S .| Pex—B0 ta —BS deg
K3 —B5 to —20 deg
@ [F-E-20 ta 20 deg
2 20 to 35 deq
E ............................ Lot i it et e s m s m s m s rm e am s m s Ea s s s a o EEarma e L T T T T T T T T T T T T _Eﬁ tD EI:' dEH
5 4 : ' ' B0 to 90 deg
a

7Y — S S A— S S

0.0 : i : : : :

O 3oL (s 00,00 AN Q00000 000G, 0o Q00000 ;00,00
18,11 /2008 03/12 /2008 1B/12,/2008 02 /0 /2008 17/01 /2008 o1 f02 /300G 16 /02 F200g

Timz [atart of day]




F14 wmr [pprmyv] for pressure 1.0 hPa

1.0

LB b ............................. ............................ e ............................
= (90 to —50 deg
B O S S S .| Pex—B0 ta —BS deg
K3 —B5 to —20 deg
@ [F-E-20 ta 20 deg
2 20 to 35 deq
E ............................ Lot i it et e s m s m s m s rm e am s m s Ea s s s a o EEarma e L T T T T T T T T T T T T _Eﬁ tD EI:' dEH
5 4 : ' ' B0 to 90 deg
a

7Y — S S A— S S

0.0 : i : : : :

O 3oL (s 00,00 AN Q00000 000G, 0o Q00000 ;00,00
18,11 /2008 03/12 /2008 1B/12,/2008 02 /0 /2008 17/01 /2008 o1 f02 /300G 16 /02 F200g

Timz [atart of day]




F22 vmr [pprmyv] for pressure 1.0 hPd

1.0

LB b ............................. ............................ e ............................
= (90 to —50 deg
B O S S S .| Pex—B0 ta —BS deg
K3 —B5 to —20 deg
@ [F-E-20 ta 20 deg
2 20 to 35 deq
E ............................ Lot i it et e s m s m s m s rm e am s m s Ea s s s a o EEarma e L T T T T T T T T T T T T _Eﬁ tD EI:' dEH
5 4 : ' ' B0 to 90 deg
a

7Y — S S A— S S

0.0 : i : : : :

O 3oL (s 00,00 AN Q00000 000G, 0o Q00000 ;00,00
18,11 /2008 03/12 /2008 1B/12,/2008 02 /0 /2008 17/01 /2008 o1 f02 /300G 16 /02 F200g

Timz [atart of day]




Temperdature [K] for pressure ©.1 hPa

7o

280

250
0 (90 to —50 deg
- - —B0 to —65 deg
m 240 —B5 to —20 deg
. [F-E1-20 tn 20 deg
= 20 to 85 deg
z —— 65 to 0 deg
= &0 to 90 deq
A

210

500 - . - . - .
D500 (000,410 00,00 (000,50 (00, 00 0,15 A 00,0
18,11 /2006 (312 /2008 168/12,/2008 02 A0 20 17701 F200y o1 /02 S0 16 /0%, 2008

Timz [atart of day]



Tangent altitude [km] for pressure 0.1 hPa

i

G E

+—+—8C to —80 deg
=3 —B0 to —B5 deg

)
o
o —B5 to —20 deg
T a4 [E1—-2C to 20 deg
Fa 20 to 35 deq
z —— 65 to 0 deg
= &0 to 90 deq
& &2

o8 : : : ; : :

D000, 00 09: 00,00 D000 Q000,00 Q00,00 O0z00.00 000,00
18,/11 /2008 03712 /2008 16,/12,/2008 02 /0 /2004 17/01 /2008 1702 /5008 16,00 /2008

Timz [atart of day]




Caily cverage [see title]

HZC winr [pprmv] for pressure 0.1 hP4d

+—+—00 to —B0 deg
=+ —B0 to —65 deg
—G3 to —20 deg
[E1—Z0 to 20 deg
20 to 35 deq
—ES to 30 deq
B0 to 90 deg

2 5 : . . , .
DD:?D.E{I 00 00,40 A000.00 (000,00 000, 00 Q00,00 (0 00,010

18,11 /2006 (312 /2008 168/12,/2008 02 A0 20 17701 F200y o1 /02 S0 16 /0%, 2008

Timz [atart of day]



1.8

Q3 wmr [ppmy] for pressure C.1 hPd

+—+—8C to —80 deg
=3 —B0 to —B5 deg

B
2
K3 —B5 to —20 deg
o (E-E1-20 ta 20 deg
= 20 to 85 deg
= —— 65 to 0 deg
= &0 to 90 deq
&

0.2 . 5 . - . -

D DL Qs 00,00 D0, O 000,00 QS0 00 Q00000 O 00, D
18,11 /5006 03712 /2008 16,/12,/2008 02,701 / 200 17,01 /200 1 /0273005 16,02 /2009

Timz [atart of day]




Cally cwverage [see titla]

CH4 winr [ppmy] for pressure ©.1 hPd

0,30
0.25
D20 [ irtgany H—+—00 to —E0 deg
e B0 tn —B5 deg
' —G3 to —20 deg
OAE : [F-E1—20 to 20 deg
E 20 to 35 deq
: —FES to 80 deq
; 50 to 90 deg
0,10 ;
0.05
0.0 - : - : - :
DR (10 00,00 AR 000,00 00, ) Or00.00 B0 00,10
18,/11 F 2006 03,12 /2008 16,/12,/2008 02 /01 /2008 17,701 F2004 o1 /02 F 300 16 /0% /2008

Timz [atart of day]




MNOZ wrar, sun elevs==0 [ppmy] for pressure 0.1 hPa

1.0

P [+ eee e o ............................ o ............................
= (90 to —50 deg
f Y P N SO N S U B0 ta —65 deg
K3 —B5 to —20 deg
@ [F-E-20 ta 20 deg
2 20 to 35 deq
E ................................................................................................................. e T R T L _Eﬁ tD EI:' dEH
5 4 : ' : B0 to 90 deg
a

0.8 S S S S

0.0 : : : : : :

O 3oL (s 00,00 AN Q00000 000G, 0o Q00000 ;00,00
18,11 /2008 03/12 /2008 1B/12,/2008 02 /0 /2008 17/01 /2008 o1 f02 /300G 16 /02 F200g

Timz [atart of day]



MOZ winr, sun elev<0 [ppmy] for pressure 0.1 hPd

1.0

P [+ eee e o ............................ o ............................
= (90 to —50 deg
f Y P N SO N S U B0 ta —65 deg
K3 —B5 to —20 deg
@ [F-E-20 ta 20 deg
2 20 to 35 deq
E ................................................................................................................. e T R T L _Eﬁ tD EI:' dEH
5 4 : ' : B0 to 90 deg
a

0.8 S S S S

0.0 : : : : : :

O 3oL (s 00,00 AN Q00000 000G, 0o Q00000 ;00,00
18,11 /2008 03/12 /2008 1B/12,/2008 02 /0 /2008 17/01 /2008 o1 f02 /300G 16 /02 F200g

Timz [atart of day]



[mse titls]

Dally averaga

F11 wmr [pprmyv] for pressure 2.1 hPa

0.0040 ; ! : : i
00035 [-----roreeemraremracenneees R e et s SRR froreremsn e
00030 frroomrmreenmmenn s I T SRR e T T T R fresennmsennse s
: V| 90 ta —EBO0 deg
R e S T P T B0 ta —65 deg
5 § ] § 5 i § —65 ta —20 deg
0.0020 |---------rmmrmm e T P RERTTRRPRS  RAGGICOIEEEEELRRETE e --eemeeemeeennnndf FE2C0 10 20 deg
5 : : y 20 to 85 deg
&k i | 64 to 30 deg
T L1 L X S — AU U U SN A SO, S 3 - 80 to 90 deq
L 5 : :
L R e e RGeS SR
DLOO0E [----eesmremeemsronsn oo frmermne b
.
00000 : : : : :
O 3oL (s 00,00 AN Q00000 000G, 0o Q00000 ;00,00
18,711 /5008 0312 /3008 18,/12 /3008 02 A0 /2008 17,/01 /2000 o1 /a2 Fa00s 16 /0% /2008

Timz [atart of day]



CLNO vwmr [pprmy] for pressure ©.1 hPa

1.0

LB b ............................. ............................ e ............................
= (90 to —50 deg
B O S S S .| Pex—B0 ta —BS deg
K3 —B5 to —20 deg
@ [F-E-20 ta 20 deg
2 20 to 35 deq
E ............................ Lot i it et e s m s m s m s rm e am s m s Ea s s s a o EEarma e L T T T T T T T T T T T T _Eﬁ tD EI:' dEH
5 4 : ' ' B0 to 90 deg
a

7Y — S S A— S S

0.0 : i : : : :

O 3oL (s 00,00 AN Q00000 000G, 0o Q00000 ;00,00
18,11 /2008 03/12 /2008 1B/12,/2008 02 /0 /2008 17/01 /2008 o1 f02 /300G 16 /02 F200g

Timz [atart of day]




NZOE vimr [pprmw] far pressure 9.1 hPa

1.0

LB b ............................. ............................ e ............................
= (90 to —50 deg
B O S S S .| Pex—B0 ta —BS deg
K3 —B5 to —20 deg
@ [F-E-20 ta 20 deg
2 20 to 35 deq
E ............................ Lot i it et e s m s m s m s rm e am s m s Ea s s s a o EEarma e L T T T T T T T T T T T T _Eﬁ tD EI:' dEH
5 4 : ' ' B0 to 90 deg
a

7Y — S S A— S S

0.0 : i : : : :

O 3oL (s 00,00 AN Q00000 000G, 0o Q00000 ;00,00
18,11 /2008 03/12 /2008 1B/12,/2008 02 /0 /2008 17/01 /2008 o1 f02 /300G 16 /02 F200g

Timz [atart of day]




F12 wmr [pprmyv] for pressure 2.1 hPa

0025

0020

+—+—00 to —B0 deg
=+ —B0 to —65 deg
—G3 to —20 deg
[E1—Z0 to 20 deg
20 to 35 deq
—ES to 30 deq

a.015 ........................................................ E——— ......................................................... ......................................................

............................ SO S S SR U SO URS: U SUUURPRRRUUUSPR
0010 : , 5 5 E0 to 90 deq

Caily overage [see title]

i o i ’;
LIS [ s D .;. ................................ E_h{.: ............ E’j‘ .............................. ;% ............................... ‘-n% ................. : ........................................................ .;. ............. i ............................... %’F .

O, 000

D500 (000,410
18,11 /2006 (312 /2008 18

(100,015 (000,50 (00, 00 0,15 A 00,0
12 /9008 02 A0 20 17701 F200y o1 /02 S0 16 /0%, 2008

Timz [atart of day]

e



COFZ wer [ppriv] for pressure 0.1 hPa

1.0

LB b ............................. ............................ e ............................
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